K0631_C

] | - =]
Ol A Z K], ALl EE= AEOlA|A AR B2 MM, ZapAE] b
= == ole = o1
Ad JEln EE E US, A= HE SIS
ES MYH/NIE o|o|x|
4y
THE!:
AR T
&= E Fsk
ZE 535.8.
AHIQIPA AE HA:
a2 = ZstE| x| ot e
LIA} £2]E 1.4305.
= E1.4305.
A O3l WItAMo| AS| A L= XA RAL3020.
M o2
Sk
= E s odor LA™ M)
AEQIA AR HH
2 E g3 Hdor Y E-™IEX| kS
HH:
QlElA ZHXN = 5H &lof o8t &2 {xl2]
HZE2 e x|5HoF 5t R0l AFSE
HX EEE £+E52Z E R CIE &2
RUXIZ O|SE = US.
QFH AlZH E84 Qo & Z EIO| CHA| Bl=
RNg Yx|st7| /siMdE Bt C E= DE
o|3Hok &.
HEAl:
Eo MA HE.

© HEINRICH KIPP WERK GmbH & Co. KG

www.kipp.com - info@kipp.com

1/3



=y | - —
OIEUA SER|, ACI L= AB|OIA|A AR B2 BH, ZALAE H
A O aa = Us 3= HE RS
=N
I
‘ ]
1 - Swi
~| N
~J
_|_
T
= .
' W
} poo }
-0,04
Z5 29
s  EY ExXME ] LA A AL D D1 D2 L L1L2AEZ3 SW1Fx30° AJE EbA
712 == S EtN E=2
F1 2 NF22. N
K0631.7903 C AE] FZE 3| RAL 7021 3 M6x0,75 142556 5 3,5 8 08 4 10
K0631.7004 C AE a5t A3|M RAL 7021 4 M8x1 182956 6 4 10 1 4 12
K0631.7105 C AR z3s 43| RAL 7021 5 M10x1 213458 7 5 13 1,3 5 12
K0631.7206 C AE A3 3| RAL 7021 6 M12x1,5 2541,710 8 6 14 18 6 14
K0631.7308 C AE s 43| M RAL 7021 8 M16x1,5 33 54 1210 8 19 23 14 28
K0631.7410 C AE] P Z3|A RAL 7021 10 M20x1,5 33 61 1512 10 22 28 15 32
K0631.790384 C AE Zs ASS wZFRAL3020 3 M6x0,75 142556 5 3,5 8 08 4 10
K0631.700484 C AE Zs AlSS WZERAL3020 4 M8x1 182956 6 4 10 1 4 12
K0631.710584 C AE Zs ASSWZIRAL3020 5 M10x1 213458 7 5 13 1,3 5 12
K0631.720684 C AE] 351  ASS WZERAL3020 6 M12x1,5 2541,710 8 6 14 18 6 14
K0631.730884 C AEl 35t ASS WZFRAL3020 8 M16x1,5 33 54 1210 8 19 23 14 28
K0631.741084 C AE] A5 A5 Wz RAL 3020 10 M20x1,5 33 61 1512 10 22 28 15 32
K0631.17903 C AHQIHA AE  H|ZAS} Z43|M RAL 7021 3 M6x0,75 142556 5 3,5 8 08 4 10
K0631.17004 C AEIQIHA AE H|IZAS A3|M RAL 7021 4 M8x1 182956 6 4 10 1 4 12
K0631.17105 C AHIQIEIA AR HIHE Z43|A RAL 7021 5 M10x1 213458 7 5 13 1,3 5 12
K0631.17206 C AHIQIHA A8 H|Z3} 43| RAL 7021 6 M12x1,5 2541,710 8 6 14 18 6 14
K0631.17308 C AHIQIHA AR  H|ZH3} 43| M RAL 7021 8 M16x1,5 33 54 1210 8 19 23 14 28
K0631.17410 C AHIQIEIA AR HIHE Z3|A RAL 7021 10 M20x1,5 33 61 1512 10 22 28 15 32
K0631.1790384 C AE|QIBIA AR H|ZAE ASS5SWZRAL3020 3 M6x0,75 142556 5 3,5 8 08 4 10
K0631.1700484 C AERIBIA AR H|ZS ASSWZRAL3020 4 M8x1 182956 6 4 10 1 4 12
K0631.1710584 C AEIQIBIA AR H|ZE ASSWZRAL3020 5 M10x1 213458 7 5 13 1,3 5 12
K0631.1720684 C AE|RlBlA AR H|ZE +A5S%WZ RAL3020 6 M12x1,5 2541,710 8 6 14 18 6 14
© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 2/3



°
ClIA = AEI CE= A A AEl IS =AaALAE
oleliA EfX, AE L= A2 |A AR B2 M, E2IAE] HY
A S XA S ol XL o1
MNd Jgl & = U8, &8s HE SIS
§Egot
- e |
FEHS EfQJ 2 A EM S AR D D1 D2 L L1L2AEZ3 SW1Fx30° AJEF EbA
7|8 =4 S EbN =2
F1 2 NF22.N
K0631.1730884 C AEIQIEIA ARl H|[ZE AS5®Z RAL3020 8 M16x1,5 33 54 1210 8 19 23 14 28
K0631.1741084 C AE|QlEA AR H|FS A5 #WZ RAL3020 10 M20x1,5 33 61 1512 10 22 28 15 32

© HEINRICH KIPP WERK GmbH & Co. KG

www.kipp.com - info@kipp.com 3/3



